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1. wm;@al-t“ﬁﬂmmqm@ﬁmmm&
(A) 4000
(B) 400
(C) 40
(D) 365
The total number of cggs Prd¢ed By a healthy human female during life time:
(A) 4000
(B) 400
(C) 40
(D) 365
2. miva A P-4 @ @ P W 3 e gfe B w1 g IR -
(A) goRi # Pt g 4 SR
(B) twa ¥ wiux ar AT B B BRer ymopl A e ¥ i
(C) gowpi A afediam 3 F4
(D) T 3 wh
The main reason for making Copper T most effective and popular Intra Uterine device
in female: -
(A) Reduction in fertilization ability of spermatozoa
(B) Increased phagocytosis of spermatozoa due to release of copper ion
(C) Reduction in motility of spermatozoa
(D) All of these
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(A) uwdfdtm vd wm

(B) wea

(C) v vt am

(D) A ol

In which of the following species of plants seeds are produc®
(A) Asteraccae and Grass

(B) Mustard

(C) Citrus and Mango

(D) None of these
wam«mmmmmmmamt-

(A) T

(B) A
(C) MR

(D) wmnnfdar A=

Genes present on same locus having different expressions are called-
(A) Multiple allele

(B) Polygene

(C) Oncogene

(D) Codominant gene

FR s qu W 9 A A A TEE T A A 8

(A) TREA 21 @Y

(B) TA 1 W@ X

(C) THA1W@Y

(D) TTRE X W@ Y

The human chromosome with highest and least number of genes are-
(A) Chromosome 21 and Y

(B) Chromosome | and X

(C) Chromosome | and Y

(D) Chromosome X and Y

d through apomixis:
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(A) gvdmn

(B)  egwrdam

(©) s

(D) xd rfm

Sickle cell anacmia show ¢

(A) Epistrasis

(B) Co-dominance

©) Pleiotropy

(D) Incomplete Jominance

IR & frprr® P P Rh ke g @ i gz B2
(A) Iowr® mm fraa

(B) frarh an fAwa

(C) wwma

(D) = A ¥4 A

Adaptive radiation is Australian marsupials are example of -
(A) Divergent evolution

(B) Convergent evolution

(C) Saltation

(D) None of these

21 3 R @z A A A i frd e &2
(A) =EA B fig

(B) = fagm

(C) zra o s

(D) w3 fugm

The trisomy of 21" chromosome causes-

(A) Klinefelter's syndrome

(B) Tumer's syndrome

(C) Sickle cell anacmin

(D) Down's syndrome
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() 25% @bt gt e et 4ol 2mimor gfee o 5
(B) 50% avibnt 4 ¢ so% wmrea gfee ar) oA
(C) 50% aiitai y= vd so% quifag EL
(D) 3P0 3 mEa gRe ard ¢ qutag g
A normal vision female whose father is colour.plind marrics @ normal vision maje,
What would be the probability of her sons und dayghters 1© be colour blind?
(A) 25% sons colour blind and all daughters with phcnowl’ic“"y normal vision
(B) 50% sons colour blind and 50% daughter normal.
(C) 50% sons colour blind and 50% daughter cojour blind-
(D) All sons normal and 50% colour blind daughter.
10. R gfR Shary a1 wrpifa g0t A Rswran gemem &
(A) rqEeh R
(B) FRISIA
(C) R wema ¥ qiferm Rf=m
(D) Jgwrd HH Azwm
Appcax':;ncc of antibiotic resistance bacteria is an example of-
(A) Adaptive radiation
(B) Transduction
(C) Pre existing variation

(D) Divergent evolution
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(B) 3R ¢ ¢ qrait I
(€) ¥R v ¢ Ui i
(D) %A wh

Which of the followi” nd Sn RNA

» js invol
& *“din anscription of IRNA. 557 RNA a

of eukaryotes?
(A) RNA Polymerase ]
(B) RNA Polymeras¢ |
(C) RNA Polymerase Il
(D) All of these
12 0 Tow o o a0 & U R Ry o e f p & A S R @1 A
WY § A @ @m?
A) 1°1°
(B) 1°*
© 1"®
(D) 1"
A Child with blood group *0" has 'B" blood group type father then the father has
geno type of-
(A) 19°
®) 1°°
© 1"
(D) 1M
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(A) e

(By @ wonfd

(C) uohd) emex

(D) @y wéa
‘Flavr Save' is a-

(A) Pesticide

(B) Chicken breed

(C) Transgenic Tomato

(D) Insecticidal Protein
ufd @ AT ¥ ¢ U B @ Rftre ma e A gEara 8-

(A) SfFgife eeys o
(B) & w1 & IR
(C) frh FRearge

(D) ™ A wh
The specific sequence of DNA recognized by Restriction Endonuclease are-

(A) Palindromic nucleotide sequence

(B) VNTR
(C) Minisatellite

(D) Allof these
f=h o S ) Pl T ¥ Fad g wolka gkt @7

(A) e TN AR T3 T (RNAI)

(B) TR 3R T ¢
(C) At B QA .

(D) M A &g T

Silencing of gene could be achieved through the usc of-
(A) Short interfering RNA (RNAI)
(B) Antisense RNA

(C) A & B both
(D) None of these
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(A) AR Ao & T T fye (s el
(B), fiygha WK
(C) sl Nkt
(D) wefas yefrafed
The first clinical 8¢ |.ht.::~::l’)' Wag Biven -
(A) Adenosine Deanmind: citney

(B) Chicken Pox
(C) Diabetes mellitus
(D) Rheumatoid Arh
17.  GAATTC far afaasit ey SO
(A) R=m
(B) w3 |
© Ml
(D) &
((X:A'll;il;:l : lrcmgmnou site for which restriction endonuclease?
(B) EcoRI
(C) Baml
(D) Haelll
18. wdnem Fffa grelld M @ AW 7 R} B o
@) ¥ .
(B) M
(C) =rh
(D) s
The first transgenic cow was named as-
(A) Daisy
(B) Maizy
(C) Dolly
(D) Rosie

ntis
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(A/) MRran yffretm

(B) 7§ amg ¢ )

(C) Aetugifor g=miftae;

(D) A vaBar

Which of the l"ollowing nematodes infect the roo of 10baC<? plants?
(A) Bacillus thuringicnsis

(B) CrylAC

(C) Mcloidogyne incognita

(D) Both ‘A’ and ‘B’

yfta® aw e e R o gfom i A s ofy gae) weafm @ o wwd),
Al 8-

(A) TdE

(B) @ A IR

(€) I IR

(D) ua wmgRRA

A molecular technique in which multiple copy of the desired gene is synthesized in
vitro is called as-

(A) ELISA

(B) PCR

(C) Gel Electrophoresis

(D) Flow cytometry
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(A)- gehag
(B) 7‘(};4\4
€y argheda
(D) #RAa
Which of the following en’¥me jg used to break the bacterial cell wall to release DNy
and other bio macro molecules?
(A) Lysozyme

(B) Cellulase
(C) Chitinase

(D) Collagenase

2 A I AR A F g 42
(A) &m .
(B) ¥#diws srRmgfew
(C) &

(D) 7 3 a7 78

Which of the following is an example of autoimmune disease?

(A) Asthma http://www.bsebstudy.com
(B) Rheumatoid arthritis

(C) Cancer
(D) None of these
3. g @ FE A R A I | Iy oRadw M Ralva g &2
(A) 3fges 7% 3 Igdga /A PewrAada &1 @ A =.
(B) afE & @ wm qun g7u w=A A R § s gy
(Cy 54 2l (A 1 B)
(D) 7 A =g T
The immediate metabolic changes in the body noticed after consuming tobacco is-
(A) Release of catecholamines due to stimulation of Adrenal gland.
(B) Sudden increase in BP & Heart beat.
(C) ‘A’ & 'B' both
(D) None of these
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il (B). g

€) wowm (VD) YR .
‘Sona Lika* and ‘Kalyan Sona’ are high yicl ding discas¢ mi\lanl variety of-
(A) Rice (B) Whe!

(C) Maize (D) Cotton

A B o W e a9 @

(A) sriimey (B) afqad efRRAC

(€) et (D) 3

Which of the following is not bio fertilizer?

(A) Azotobacter (B) Bacillus thunngiensis

(C) Clostridium (D) Azolla

W M @ e A b age A qgwr grg 8 TN a0 8 FE ¢
(A) udlfaw (B) fapyarad

Q) o (D) w2 a1

Masses of bacteria associated with fungal filament 1o form a mesh like structure of
called-

(A) Flocs (B) Mcthanogen

(C) Plasminogen (D) None of these

wWarmfea s &2

(A) @ 1§ e & Aiem gat (B) ¥l ufy e

(€) NMRa ol s wgew (D) #=w afta &3 o wew i
Probiotics are-

(A) A new kind of food allergen (B) Safe antibiotics

(C) Live microbial food supplement (D) Cancer inducing microbes
Mya YRR g7 wifda sl o s A a3 &2

(A) Tgger (B) i
(C) =g MM (D) ¥ A wh
The toxic protein secreted by Bacillus thuringiensis is-
(A) Tubulin (B) Insulin
(C) Cry protein (D) Allof these
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(A) Bgma g m;m\"‘\’ﬂ ey (B) diyemgfey arge
(C) #Hrgm anRA b'-"?‘l\':m (D) gt A ot

Which of the following is  ®lrg yjr o
(A) Human Immuno [)cﬁCiency Virus (B) HcpatiliS virus

(C) Micro virus influenzii (D) All of these

0. A ¥ W B ISP TR 3oy gy 82
(A) o IR (B) & W
(C) RRF Fr (D) TS
Which of the following discase is generated by allergens?
(B) Hay fever

(A) Skin cancer
(D) Goitre

(C) Enteric fever
31. WO IRAE et 9 A ey aerar 22

(A) weH 315 ImaEs, 47 W Gan

(B) 3 87 19 ggior I HFES

(C) i, R T HTHS Ve BrEgETd

(D) Wmm.mmimwmﬁ

Photochemical smog consists of-

(A) SO, PAN and Smoke '

(B) Ozone, PAN and NO,

(C) Ozone, SO, and Hydrocarbon

(D) 8§0,, CO, and Hydrocarbon

32. w9 ¥ W Swar &1 §% B FT A I A &2
(A) & et fRor Fr srvirgor (B) %1 RAfERor 1 gy

(C) wifsra fafdwor &1 swmor (D). W= Wsd & R e
Snow blindness in human being is caused by-
(A) Absorption of UV. f radiation (B) Absorption of infra radiation
(C) Absorption of cosmic radiation (D) Erosion of comnea by snow

L4
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o) &2
(A) Saw T

(B) @ goé
(C) URTH T
() ™ A 7 T
'ﬁlc thickness of Ozone in a column 0
measured in terms of-
(A) Dobson unit
(B) Arab unit
(C) Pascal unit
(D) None of these
3. mamw\mmmmmﬁmmammp
(A) 25
(B) 9
(C) 34
(D) ¥ A o A
The total number of Bio diversity hot spots in the world is-
(A) 25
(B) 9
(C) XM
(D) Nonc of these
bs, ¥ @ a7 M A eow A @
(A) A=
(B FET IF AEES
(C) FAR TR FTdT
(D) ™ A

Which of the following is green House gas?

f air from the ground to the top of atmosphere i

(A) Methane

(B) CO;

(C) Chloro fluoro Carbon
(D) All of these
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mu‘wnamsmwﬂa‘m*ﬁa\muwm*mmﬁmz@"

Praffa &) ama R 20 (1°)M*Wi| (10%2=20)
Questions no. 1 to 15 ar¢ shor! Answer yype questions. Each question of this category
carries 2 marks. Answer any (€8 (10) questions on your copy. (N3}
1 ayel wnfda & s a1 8 I eErer 2w aHET | @)
What do you mean by Incomplete dominance? Explain with suitable example.
2 AFT sfgrm @ srEel T PR @ iy R | @)
" Draw a neat and well labelled diagram of transverse section of human ovary.
3 @ g @ R T PR Q) yo Rl A R R @)
Describe the two salicnt features of double Helix structure of DNA.
4 yerifaa @ urbafa 7R U TS & oF 2 2 | @)
(i) IR B
(i) IRaRE wd
(i) AP @fa o
(iv) TR

Define and give one example of each of the following.
(i) False fruit

(it) True fruit
(1i1) Parthenogenic fruits
(iv) Polyembryony
s o SR A o T e 87 40w REE ¥ TR T g 27

What is gene mutation? What s its role in organic evolution?

@
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7.
/

9.

amqnﬁqﬁa\mmmamwwmfa@mm*W

Name any (wo (2) enzymes of DNA replicatiop jon one specific function of

and pe"
cach of them.
arifie. R Sfra & I T @ gy aen T A Q) 5
T | @

What do you mean by genetically modified organiqn? pescrib¢ WO (2) benefits of
these crops.

v‘lﬂsﬁ:ﬂwmﬂnﬁmmﬁmaﬁqmsmvﬁmma? @)

s 2
What is micro injection? How it is helpful in recombinant DNA technology?
mmmpaqdmmqummm?? )

i ot e o in genetic engineering?
What is restriction endonuclease? What is its significance in ¢netic g g

0. T R A T WA & AReE TeAR & gl @ IR FIAT Q)

1.

12.

-~

What do you mean by sewage? Describe the role of microbes in sewage treatment.

T T 7@ & g AR g gl @ Swrea @ g ani @ # )
What is micro propagation? What are the advantages of producing plants through this
technique.

wARE AT B ArerTE, I A TR, T Iyar 7 R | @)

Describe the causative organism, mode of transmission. symptoms and therapy of
malaria disease.

@ weitE wfaelt ((fffs) &1 @@ Tmifda fm T @

13.
Draw a neat, well labelled diagram of a typical antibody.

14. I RfRum e wie w1 &2 9Ra of § o AR TR D Fe wWe P AW W@ TR

" Pl ) Rrd @)

What is Biodiversity hotspot? Write down the name and specialities of two such hot
spots found in India.

15, AN R R} e s afwra 22 S &g @ T IR @ 22 @
What do you mean by ozone hole? What are main reasons of ozone depletion?

[119) '
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T R (3)(5=15)

MR Angy, .
Questions No. 16 10 I8 are oRe Miwer type questions. All questions #r€ compulsory

In cach question there arc int€TMl opgjqpe (3%5=15)

Y
16 e RaT b ™ = i " Rfv=r R #) Aven a1 ©)
Discuss vanous me thods 1 COMRacention for the regulation of population-

OR /3erar

e () BT Y I ey 0 presf o R B
- M-W & @ el ~ http://'www.bsebstudy.com (2+3=5)
o e g () T O Riglw (i) R RIS

What do you mead by <hfomosomal disorder? Describe the cau
abnormalities in the {ollowing genetic disorders- '
(i) Down’s syndrome ) Klinefelter's syndrome (iii) Turner's syndrome
17 e Rfwer au ¥ S0 SR A ©)
What is adaptive radiation” Hllustrate it giving suitable example.
o~ . OR/3ar
2 ) 7 & R D 4 4 gwed) g W ST S | (2+3=5)
“What is Biotechnology? Deseribe the application of Biotechnology in Medicines.
Wﬁmqﬁﬁmﬁ)mz?mm,mwm.
TR @ SR W @ ) e ) ve @ Jo-am ¥ I | (1+2+2=5)
What is Aquired Immuno Deficiency Syndrome? Give an account of its pathogen,
transmission, etiology. diagnosis and remedy. Suggest measures for its prevention.
. OR /s
Ja R A smaa i sfwrg &2 i Ridam 1 oRes 3 0 wEe 8?7 e R
A afd & FE@ IR R y@a I | (1+1+3=5)
What do you mean by Biodiversity? What is the importance of species Biodiversity in
Ecosystem. Describe main reasons for depletion of Biodiversity.

<c and related

————
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